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Question 1
Question Type: MultipleChoice

What connections to multiple public clouds are provided through 3rd party connectivity?

Options: 
A- Megaport Cloud Router (MCR) and Virtual Cross Connect (VXC)

B- Layer 3 and FastConnect

C- Virtual Cloud Networks (VCNs) and Amazon Virtual Private Cloud (VPC)

D- FastConnect and Direct Connect

Answer: 
C

Question 2
Question Type: MultipleChoice



Which statement can be detected by monitoring of access to sensitive data?

Options: 
A- SELECT SYSDATE from DUAL;

B- CREATE index emp_id_idx on EMPLOYEES(emp_id);

C- UPDATE quarter_reference set Q1='012022'

D- SELECT * from EMPLOYEES;

Answer: 
D

Explanation: 
This statement can be detected by monitoring of access to sensitive data, because it queries all the data from the EMPLOYEES table,

which may contain personal or confidential information about the employees, such as name, address, salary, or performance. Monitoring

access to sensitive data can help protect the data from unauthorized or malicious use, and ensure compliance with data privacy

regulations.



Question 3
Question Type: MultipleChoice

Which three data file formats can be loaded using Oracle Database Actions? (Choose all cor-rect answers)

Options: 
A- JSON

B- AVRO

C- CSV

D- VSAM

E- Continue

F- Retake test

Answer: 
A, B, C

Question 4



Question Type: MultipleChoice

Which deployment option provides the highest degree of security and governance while providing a completely self-service database

experience?

Options: 
A- Oracle MySQL Database Service

B- Oracle Autonomous Database

C- Oracle Database Cloud Service

D- Exadata Cloud Service

Answer: 
D

Question 5
Question Type: MultipleChoice

Which two statements about ORDS are true? (Choose all correct answers)



Options: 
A- ORDS is a low code development platform to build responsive applications.

B- ORDS stores, manages and indexes JSON documents

C- ORDS makes REST APIs in the Oracle Database available.

D- ORDS creates servlets for the Data Dictionary

Answer: 
C, D

Explanation: 
ORDS makes REST APIs in the Oracle Database available is a true statement about ORDS.According to the Oracle FAQ page4,

''ORDS is a Java application that enables developers with SQL and database skills to develop REST APIs for the Oracle Database, the

Oracle Database 12c JSON Document store, and the Oracle NoSQL Database.'' ORDS is not a low code development platform, nor

does it store, manage or index JSON documents. ORDS also does not create servlets for the Data Dictionary.

Question 6
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Question Type: MultipleChoice

What are two main benefits of Oracle APEX? (Choose all correct answers)

Options: 
A- Rapidly develop, customize, and deliver secure applications

B- Store data in PL/SQL objects

C- Faster development time using hand coding

D- Less productivity compared to hand coding

E- Develop responsive web apps

Answer: 
A, E

Explanation: 
Rapidly developing, customizing, and delivering secure applications and developing responsive web apps are two main benefits of

Oracle APEX.According to the Oracle website2, ''Oracle APEX is a low-code development platform that enables you to build scalable,

secure enterprise apps with world-class features that can be deployed anywhere.'' Additionally, according to the Oracle website3,

''Oracle APEX enables developers to build modern, mobile-ready applications out of the box with minimal effort.''

https://www.bing.com/search?q=bing+ai&aqs=edge.0.69i64i450l8.63794475j0j1&FORM=ANSPA1&PC=U531&showconv=1
https://www.bing.com/search?q=bing+ai&aqs=edge.0.69i64i450l8.63794475j0j1&FORM=ANSPA1&PC=U531&showconv=1
https://www.bing.com/search?q=bing+ai&aqs=edge.0.69i64i450l8.63794475j0j1&FORM=ANSPA1&PC=U531&showconv=1
https://www.bing.com/search?q=bing+ai&aqs=edge.0.69i64i450l8.63794475j0j1&FORM=ANSPA1&PC=U531&showconv=1


Question 7
Question Type: MultipleChoice

What is the FINAL release supporting the non-CDB architecture?

Options: 
A- Oracle Database 23c

B- Oracle Database 21c

C- Oracle Database 18c

D- Oracle Database 19c

Answer: 
D

Explanation: 



Oracle Database 19c is the final release supporting the non-CDB architecture.According to the Oracle documentation1, ''Starting with

Oracle Database 21c, non-CDB architecture is desupported. You must upgrade a non-CDB Oracle Database to a PDB on a CDB.'' A

CDB is a container database that can host multiple pluggable databases (PDBs) that share the same resources and memory.

Question 8
Question Type: MultipleChoice

Oracle Data Lakehouse streamlines the integration, storage, and processing of dat

a. Which two services are used for persistence of the data in Lakehouse? (Choose all correct answers)

Options: 
A- OCI Data Catalog

B- Autonomous Database

C- OCI Object Storage

D- OCI GoldenGate

Answer: 
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A, C
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